QUESTION BOOKLET
Ihis question paper contains 200 questions. / 8 T 1 200597 3
All questions are compulsory. H;h RS Hﬁ‘cﬂﬂ% |
(ne question carries half mark only./ U %34 = foTu SFae a3 2
Maximum Marks : 100 S1f o
Time : 2 Hours i 25

{.  In Buddhism, ‘Bull” is related to what incident of Buddha's life ?

(A) Birth (B) Mahabhiniskramana
(C) Enlightenment L (D) Mahaparinirvana
dig a1 S 1 599 g o Sad ) hE aen A a7

(A) &9 (B) wemufssmwr (C) weigd (D) TETi=

[T
.

Who's achievements are recorded in the-Allahabad Pillar inscription ?
(A) Chandra Gupta Maurya (B) Samudra Gupta

| 6 P 4 ikramad_i‘tya _ (D) Skand Gupta
fermreh STeTfeal seTeTee & fireterd ¥ g 8

(A) SEE AR (B)| §EIE
3.  Idol of dancing girl (Bfg:ﬁ_zc) 1s foun
(A) MesopotamianCivilization
(C) Persian Civilization ',

(D) THaH

the following civilization ?
s Valley Civilization
puan Civilization

TR g (Fie) e R 7
(A) HEORHIE oG 1A Te

(C) f¥= T (D) firg e

4.  The famous Peacock Throne of Shah Jahan was.taken away in 1739 by
(A) Afghan invader Ahmed Shah Abdali .
(B) Persian invaderNddit $hih !t TOgetner =
(C) Mongol invader Chengiz Khan mem
(D) British East India Company _ . &4
TSRl 1 WHE g fEREa 1739 | feaes g 2 fomn man ar?
(A) B FATHASHI 3EAS e ALl
(B) Tf¥fEA STHHERI ATfCTome

(C) mnamwmmm@m
(D) fafew $= sfea w9

5. Jahangir was the ruler of which dynasty ?
(A) Nanda (B) Haryanka  (C) Maurya (D) Mughal
SRR o 59 @ ImES 91 ? .
(A) e (B) &% (C) =d (D) HTe
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Fhe reputed musician duo. Tansen and Baiju Bawra flourished during .
reign of

(AY Jahangir (B) Bahadur Shah Zafar

(L) Akbar (D) Shah Jahan

aidisd Sriiaer S, TeEe 3717 S5y =T R STERRRTE % 21H el - T ¢
(A) FEIR (B) =@tereme 5t (C) 3T (D) wTEAAEL

Humayun’s Tomb was built by

(A)Y Humayun (B) Hamida Banu Begum
(C) Babar (D) Akbar

T 1 Heher] Temateh g Siermen 79 7 .

(A) BHR (B) g ae s (C) = (D) Heh=l

The Indian National Congress had passed the famous resolution on “Nay-

Co-operation™ in 1920 at its session held at

(A) Lucknow  (B) Delhi (C) Bombay (D) Calenits
RS TS g S 1920 § T 3T STeREE § CsEEET 9 iy
ST T femar o

(A) TTETS B) feecli (€)== (D) el

The issue on which the Civil Disobedience Movement of 1930 was launched

Was

(A) Lqual employment opportunities for Indians

(B) The proposed execution of Bhagat Singh

(C) Salt monopoly excercised by the British Government
(D) € omplete Freedom

S e T 1930 1 AT AT AT 9= =1 T o 92 20
(A) qmﬁm < fere FHm TR S

(B) wTTiEehl Tt W]

() ﬁmmmw Uh1{4h T, Rl YT

(D) HUl el

The British introduced the Ratlways in India in order 1o

(A) Factlitate British Commerce and Administrative Control
(B) Promote Heavy Industries in India

(C) More foodstuff in case of famine

(D) L able Indians to move {reelv within the Country
qumammmmmﬁﬁvﬂr

(A) Tafest STvrsa iyl e = qae gg@ F |
(B) HT?H-T W“"J‘T&TIW ¢l |

(C) 3ThTer =01 =G A w1

(D) “"ﬂiﬂ‘ﬁm’ﬁwmﬁ A THA | Herd S |

{
-
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(1. Who among the following was the first 10 8ign the "Instrumeny i
$ o

Accession’ ?
(A) The Dewan of Travancore (B) The Maharaja of Barods
C) The Nizam of Hyderabad (D) The Raja of Jodhpur
1 8w vEe e “SEHE AT uHvE " w mm o )
(A) TV & ST (B) #3Yq1 % warmn o
(C) eram & fasm (D) <9 & T
12. In which region did Birsa Munda operate against the British ?
(A) Punjab (B) Chhota Nagpur
(C) Tarai (D) Manipur
forcan e 3 fafee 3 forog P 4 A o fon 7
(A) T (B) BRIAME  (C) (D) Hforg

13. The ba'nle of Plassey was fought between East India Company and
(A) Slrajuddaul!a(B) ~ Ahmad Shah (C) Tipu Sultan Anwaruddin
A 1 4 ¥ 3 F o % = g

(A) Bsden (B) 3mEwe e AyEEm \ (D) s
14. ‘There is no politics devoid of religion’ istated

(A) J.L.Nehru J " Vinoba Bhave

“of F fem BRGS0 Bt Foress gro e 2 7

(A) 3.TeA, 968 (B) ot v %

(C) a9 A (D) ., i
IS. Which was associated with Jallianwala Bagh tragedy ?

(A) General Harris (B) Arthur Wellesley

(C) Colonel Wellesley (D) General Dyer

Sferatare a7 FEE % A1y I Haitd o 7

(A) T atm  (B) IR IASER (C) e Jawell (D) 9 =R

16.  Who became the first female governor of Independent India ?

(A) Vijayalakshmi Pandit (B) Sharda Mukherjee
(C) Fathima Beevi (D) Sarojini Naidu
B T WiE 1 g9w wfeen TsageEd 7

(A) frrmereshi dfea (B) e g

(C) wifem i (D) wifsrh Tmag

5 Code Nao + C10R0 /€ astes &



7. Who was the first Governor General of Bengal 7
(A) Warren Hastings (B) Robert Clive
(C) William Bentinck (D) Col, Sanders
WA W wun e e W
(A) afa dfdm () Owd s () faferm @2 (D) w4 Aol

18, Who was the founder of society called '/\hhimv‘ﬂhum"" |
(A) Lala Lajpat Rai (B) Bal Gangadhar lilak

(C) Vinayak Damodar Savarkar (D) Bipin Chandra Pal
* sftra A s ) wn A A 7

(A) #Ve STagd U (B) 'ﬁmm

(C) T gmive wramw (D) fafrag o=
19. The first Defence Minister of India was .

(A) Sardar Patel (B) Baldev Singh

(C) K.M. Cariappa (D) Gopalaswami Aiyangar

AT FABAL 7 o :
(A) SR (B) wwafe
(C) %.un, Hitayon (D) TrTeRET TR

20. Who was the founder of Banaras Hindu University ?
(B) Dr. Rajendra Prasad

(A) Sukumar Dutt

(C) Motilal Nehru (D) Madan Mohan Malaviya
T fig favafaares & weavs #1727

(A) §HAN T (B) . g wER

(C) " Ja® (D) WA HIgA HieEa

21. The world's oldest continuously inhabited city is
(A) Jerusalem (B) Baghdad (C) Istanbul (D) Damascus
farva @1 wrefiam @R @1 g3 R 2
(A) J%@eM  (B) WRR (C) w=ge (D) THREHE

22. Zend-Avesta is the sacred book of the

(A) Parsis (B) Jains (C) Jews (D) Buddhists
e~ e forweh ofees qera # 7
(A) e (B) 3 (C) agd (D) #2

——— —— ——_
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27.

Who is known as the “Lady with the Lamp™ 7

(A) Florance Nightingle (13) Sarojimt Naidu
(C) Helen Keller (1) Annie Besar
frR “erd) fary 2 @™ & @ o e R g

(A) witaagdire (B) wOPEh A (C) e () o e

The famous painting ‘Monalisa’ was the creation of

(A) Michael-Angelo (B) Leonardo-da-Vinei
(C) Picasso (D) Van Gogh

guftg feadt (98m) sefermn feaa g 8 7

(A) WTgHet TiHe (B) foravandi z et
(C) ferwran (ID) % iy

Which is a name of US Parliament ?

(A) Diet (B) Senate

(C) Congress (D) House of Commaons
quH wAMFR 7

(A) e (B)

(C) =g (D) #1358 7 shea

The advantage of unitary system of governance is

(A) More adaptability (B) Strong State

(C) More participation by the people(D) Less chance of Authoritarsanvan
WEA F UHIHS JUITed! & A B

(A) Ffus Iggea (B) wa= g

(C) =i g e s (D) TR £ %5 aan

‘Trade Unions’ is listed in which list of the Constitution ?

(A) Union (B) State (C) Concurremt (D) Globsl
33 afe” dfer ) form gt A g £ 7

(A) @9 (B) T (C) =wmad] (Dy A=
Who is not appointed by the President of India 7

(A) Vice-President (B) Judge of Supreme Court

(C) Attorney General (D) Chief Justice of India

o v & e gm forges 1 fom T 2

(A) Fyrgufa (B) =i %12 % =ity

(C) wzri e (D) wra % s =ity

N ———
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29.

3.

32.

33.

How many times, a Non-money Bill is discussed in every house of th,
Parliament ?

(A) Two (B) Three (C) Four (D) One
HHe & welteh Her 3 bl am va - fare favraes #) wr=t weft 2 7
(A) A (B) (C) @ (D) u%
The number of Parliamentary seats (Lok Sabha) of Gujarat is
T B weda Hie (eewan )6 gefea & ¢

(A) 20 (B) 22 (C) 24 (D) 26

Who of the following held the offices of Judge of the Supreme Court and

the Speaker of the Lok Sabha ?

(A) M. Hidayatullah (B) K.S. Hegde

(C) Subba Rao (D) P.N. Bhagwati )
fraferfiaa § @ 9 wats ey & e st e & afiw ® G5 2

(A) H. feemgeeg(B) .08, 812  (C) e U4 (D) .3, wad

The term “Gram Sabha” denotes o
(A) Senior Citizens of a village (B) Population of a village
(C) Electoral College for Panchayat (D) Elected Members of Panchaya

‘U E” AT AaEd R 7

(A) U I % afem Ani (B) U U i STEE

(C) v=ma =1 fafas nza (D) v=Ed & faifaa e

Which Article of Indian Constitution deals with emergency provisions 7
(A) 352 (B) 356 (C) 360 (D) All of these
FATTAHTEA ST 6 Fed & e wifaerma o ¥ wn sy waifu 2 7
(A) 352 (B) 356 (C) 360 (D) Z& @i

Thc majority of the provisions of the Indian Constitution can be amended
(A) by the state legislatures acting together
( 2) by the parliament alone
(C) with the joint approval of the parli |

! arliament and GU
(D) only on rauﬁcatiqn by halfof‘()he states e
Wy ufy%m % At yrawr & HINYA foar 51 wepa 2



The success of Demacracy depends on

(A) The right u;f’[’goslcl,bcn ‘(:’)) Right 1o unity
ight to individual liberty ;

%’%ﬁm'ﬁm g ffr el 2 7 ) Right © propen,

(A) i & 1 HiUHT (B) vshan &1 sfyay

(C) dafereh T Bl AT (D) aufet % Hfia

kL

16. In which country, there is federal government 9

A) China (B) USA (C) Cuba (D) Hel

%amzmiad’mmt 7 -

(A) 9F (B) IuHT (C) @y (D) WfFaam
37. Malayalam is the official language of

(A) Puducherry (B) Lakshadweep

C) Daman and Diu (D) Delhi

%‘a:aﬁmm&mmmm% ?

(A) 5= (B) &M (C) zmAsmda (D) feeh

38. When did the first linguistic state of Andhra come into existence ?

(A) October 2, 1953 (B) October 1, 1953

(C) April 1, 1953 (D) January 5, 1953

3y 1 wow el U= Fe rfeaa | s 7

(A) HaE 2, 1953 (B) @&t |, 1953 ﬁ
(C) 3 1, 1953 (D) F9adl 5, 1953

39.  Which is not a salient feature of our Constitution 7
(A) A federal polity akin to the American model
(B) A parliamentary form of government
(C) A sovereign democratic republic
(D) Contains Directive Principles of State Policy
HH |1 7R e o fafire @ # 2 7
(A) Imifefi wiget & wam veh wefig Tt
(B) wThr #1 wwudy @wvy
(C) v Hwy sreraifaes oy
(D) w=a % +Hify foreors aa wfae # |

What is minimum age for becoming @ member of Rajya Sabha 7

(A) 2l years  (B) 25 ycars C) 30years (D) 35 years
% Hew w1 o fero =pam 91 LA

(A) 21 a4 (B) 25 (€) 30 () 35 ad

\‘ ) » - )
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42.

43.

Code Na, - C-798/2022 Serices

In the absence of the Speaker and the Deputy Speaker, who presides ove

the deliberations of the Lok Sabha ?

(A) Prime Minister

(B) Home Minister

(C) Oldest Member of the House

(D) One of the members of the House out of a panel of six person:
nominated by the Speaker ) '

o 310 ool wftet ) sufeafs §, wima & frem-fam =i seedr 50

HIAI R

(A) S

(B) 7 ==

(C) e & Hed aig 95 e

(D) i gr fia 77 = & e § 4 7eT % el 4 1 0

Who of the following held office of the Prime Minister for the shortest
period ?

(A) Lal Bahadur Shastri (B) V.P.Singh

(C) Chandra Shekhar (D) Charan Singh
fafafaa 1 4 feaa 998 Fu 3efa & fow gum 5= =1 ge g fer?
(A) T FRIGL I (B) i.4i. fag

(C) =zt (D) = fig

The Prime Minster, Union Cabinet Minister, Chief Ministers and Council of
Ministers are all members of

(A) NITI Aayog (B) Zonal Council
(C) Regional _Coupci! . (D) National Development Council
m,mmuﬁ,g@uﬂaﬁwﬁﬁmm%msag ?

(A) Hifa smam (B) e gty

(C) #Ha gitag (D) ¥ fowg gfrge

Which tax is exclusively and totally assigned to the Central Government by
the Constitution ? ]

(A) Estate Duty
(B) Sales Tax

(C) Taxes on Railway fares and freight
(D) Corporation Tax

T A G0 S 3 ot Sz e 1 T e T 7
(A) m@ﬁ E‘Ufa (B)q’%ﬂga ®

€ miEm Mg ng (D) fma
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47.

e ———

High Count has the jurisdistion oy g,

- Lerala (B
(A) Tamil Naclu and hera ainil Nad aditior.
(©) Kerala and l.lkMWWl} (I “hluul»:;:‘:th‘ju;‘“ .M."
e p—— k0 st - 8§ P S ey
(A) aferTg i et (H) wi¥errg st qeah
() @ i (1) i 3l afiorig
Which of the following depletes the UV vadiation on the ey
(A) Carbon monoxide () Onygen
C) Ozone - (D) Carbon dioxide
miﬂmqﬂmmfﬂh@ﬁ | Y e R
(A) ®HiA RIS (1) siteefian
(C) A (1) wida grgaiiagge
Dry winds (Harmattan) blows in Sahara desent from ‘
(A) South to North () Last 1o Wesi
(C) West to East él)) North to South
werrfive § ek vl (erle) rd) @

(A) dhmazm (B) adim () afmagd (D) e b

The main part of water in coastal areas of ocean which is located nesr e
main region of continents are called

(A) Topography (B) Ocean Peak

(C) Continental Shelf (D) Continental Slope
mtﬂiﬂﬁwﬂmg&ma\mtg@ & & s feua 2,
HEEr

(A) Temgfa  (B) werawTE v (C) wEE e (D) weddE o

Which is not correctly matched ?

(A) Indonesia - Jakarta (B) Maldives - Male
(C) North Korea - Seol (D) Zimbabwe — Harare
W wh e R 7

(A) L] (B) WiedE-arat

(C) zof S -fasia (D) s -gut

Bandipur National Park is located in which state ?

(A) Kamataka (B) West Bengal (C) Rajasthan (D) Odisha
Wt e v far T 1 fea R 7

(A) witews () wimaTe (C) Towww (D) HfEW

g — ——— ——— .. <a—
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52.

53.

Asia’s first underground hydel project is located in which state ?
(A) U.P. (B) M.p. (C) Bihar (D) H.P.
ofovn 1 wam ymd Fefaea afare fes o A feaa 2 7

(A) 3.9. (B) ®.u. (C) faem (D) fa.u.

Lunar eclipse is caused when the

(A) Moon comes between the Sun and the Earth.

(B) Earth comes between the Sun and the Moon.

(C) Sun comes between the Earth and the Moon.

( !)) None o; these

(A) w394 gt F s 2 (B) et g it iz % e T 2 |

(C) iy s sdRamal (D) T | I3 TR

Spring tides occur when
(A) the Moon is nearest to the carth.

(B) the Moon is farthest from the earth. ‘
(C) the Moon, the Sun and the Earth are at right angles with the Earth at the

apex. .
(D) the Moon, the Sun and the Earth are in the same line

97 =av a4 711 £ 79

(A) %iamggi;sﬁm?l

(B) Szm YA Aaga g2 |

(C) sﬂimwﬁ%mm,gﬁm@mmh
(D) Fza, qd sy vE A AR AR

Which is the farthest from the centre of the Earth ?

(A) South Pole (B) Antarctic Circle

(C) Tropic of Capricorn (D) Equator

TRy HHFZ AR GR 7

(A) Famya  (B) soEmEEA(C) wwgd (D) faggd

All the watches of a country are set according to

(A) Local time (B) Standard time of the country
(C) Greenwich Mean time (D) Time of sunrise and sunset
faeft m 1wt arfegai & FEn az i A E |
(A) ¥ 77 (B) &3 HFS 69
(C) Haefra d 2rgm (D) witea it gate =1 5w

—
e o S S——. i ————
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Which is a type of planetary wind ?

56. (A) Monsoons (B) Loo (C) Westerljes (D -
A 1 T A ST E 7 ?) Tomado,
(B) q\ (C, ;~a‘ 'a ~L A
(A) T "AH (D) g
57, Whic:;d ty%e ;)f rainfall leads to the formation of e windward and
leew side ! ( :
(A) Cyclonic ~ (B) Convectional (C) Orographic (D) Ajj of
aﬁmﬁqmmmﬁmmﬂiﬁﬁwmmﬁwﬁ?j of these
(A) aa,‘jﬂ o (B) #HI= .
(C) siiifeTeh(STRHTH) (D) == 54
58. Sandstone is a/an
(A) lgneousroc!< (B) Sedimentary rock
©) _Memmorz;c;;o;l% (D) None of these
e fhaa 7
(A) ITAIE  (B) IEEEIIE (C) FEEAlE 37 (D) TH 555 35
39. A cirque is developed by
(A) Rum?ing water (B) Waves [é.{i
(C) Glaciers (D) Winds
fem forfta 2 )
(A) =& T ey o |
(B) @i (C) femre (D) =
60.
(T:e Ocean currents transfer heat from
- )) g::: sea or ocean to another
Ccoast to
(C) the surfa zfl_nother
D) | ce of the sea to greater depths
ower to hlghcr-algitudcs
(A) % g o1 e 3 i o
©) T e (H g (B) THaeqgmiac
- TRAGEa TR TR (D) = wfus sar
o1, 31‘)’80 Garcia is in
Indi |
(©) /:‘m'zz (O)Cttan (B) Pacific Ocean
Fm s, SCCan (D) Atlantic Ocean
(A) iz, 3 : "
% ki (B) woiia wgmrR i
\aléﬁﬁmq (D) 3eenfes mamrm A
: e O

13 e No P a0 S e aia



62.

66.

68.

69.

Which river flows near Paris ?

(A) Danube (B) Rhine (C) Thames
i S Tds s d T aEd 2 7

(A) 34 (B) TH (C) &

In which state Jog waterfalls located ?

(A) Karnataka (B) Maharashtra (C) Assam
H 8 U9 § F FANITd T8 R 7

(A) FAEH (B) WERTE (C) 3EH

The Konkan coast stretches between Goa and

(A) Cochin (B) Bombay (C) Daman
HisHo] a2 M3 3N A |
(A) HIEA (B) ana (C) &
Sambhar lake is situated in .
(A) Gujarat (B) Bihar (C) Rajasthan
qiwe e FEl a2 7 .
(A) T (B) famm (C) T
India is the largest producer as well as consumer of
(A) millets (B) maize (C) pulses
Wi frae gad SI1e1 IaTes AN ITNTH B 7
(A) T (B) wa (C) gt
Which state primarily depends on thermal power ?
(A) West Bengal (B) Karnataka (C) Tamil Nadu
HH 91 T4 w9 | arfg Fat W anafEa @ 2
(A) WPmame  (B) FAicH (C) dfirerrg
Taj Express runs between New Delhi and
(A) Hyderabad (B) Gwalior (C) Bhopal
T v % feeef IR fopss e et 2 7
(A) ?eUER (B) waifera (C) Wi
Which city is known as ‘Pink City’ ?

(A) Jaipur (B) Bhopal (C) Lucknow
FH 4 TR H! T IR G Jyy AR 7
(A) g (B) wiqre (C) &%

(D) Guijarat
(D) TSUE

(D) Diu
(D) <4

(D) M.P.

(D) H.4.

(D) wheat

(D)

(D) Kerala

®

(D) None&.fthmc
(D) 8 AHE @

(D) Gwalior
(D) warfet

Code No. : C-798/2022/Series-A 7



70.

7]0

73.

740

which river does not make a delta 2
| adi (B) Godavari (C) N .
2;?4@34 :gag?-zrl FE a8 ? mada (D) Kayer

(A) FEFGI (B) TewEd (C) 7ty (D) #rf

The Indian Wage Policy is most nearly described a5 being based on,

(A) Productivity (B) Minimum needs

(C) Standard of living (D) Cost of living

st daa ff gegaa e R 9T 3maTiE 2 2

(A) IGHAl (B) =Ham sravasa

(C) e A (D) it a9 i w1

Where was the first cotton mill established in India ?

(A) Ahmedabad (B) §urat (C) Mumbai (D) Coimbatore
WA & 52H e el sal T v g8 ¢

(A) ¥EHeERe (B) W@ (C) 7«3 (D) HrEaF
Monetary policy in India is formulated and implemented by

(A) Government of India (B) RBI

(C) Indian Banks Association (D) FICCI

W & gifs fife e g fam st st e 2 7

(A) T FHw (B) RBI St

(C) sfem F= umifmoym (D) FICCI

What does National Income Mean ?

(A) Thg total value of all goods and services produced in the country
during a period of one year .

(B) The total value of all stocks and shares in the country during a period
Ofone year

© Th? total value of all capital goods produced in the country during a
peflOd Of one year

(D) The. total value of all consumer goods produced in the country during a

(A) % 2 ) syafey 3 2o o1 8 IeRE Tt it it Aot 1 F T
fﬁ’ Waﬁ#m&%%&mﬁﬂﬁaﬁsﬂtﬁaﬁwgﬂw
) O ¥ ) srafls 5 A 2w # 3eEE ) Gt g &1 59 9

g B wﬂﬁm%mwﬁmmmmﬂ%%@ﬁf

\\




75.  The emblem of RBI is
(A) Capital of Ashokan Pillar (B) Kuber with purse of moricy
(C) Tiger before a palm tree (D) A dog sitting in a defensive stz
RBIFIUiiHE f: ,
(A) 3791 TN i HiUeH (B) 8% THH AAFA
(C) T8 % 98 % °H 91" (D) T T&@THS FI=A1 3 =521 Fi
76. The system of Budget was introduced in India during the V icero}'z_ah}' of
(A) Canning  (B) Dalhousie _ (C) Ripon (D) Elgin
WA H Fwie YuITell feraehl araraaed & o IE &1 7S 417 2
(A) sfm (B) Sraisi (C) fA (D) wioH
77. IRDP was introduced during which five year plan ? .
(A) Third (B) Fourth (C) Fifth (D) Sixth
IRDP fed U=dia J1eT = S SAfeshd g1 7 3
(A) dEd (B) =idi (C) dr=di (D) Zal
78. Which is not a permanent member of United Nations Security Council ?
(1\\). China (B) India (C) USA (D) France
S HYH g &I 9iue i T 9¢5g 181 2
(A) =M (B) it (C) IuET (D) F=
79. What is the full form of PMGSY ?
(A) Pradhan Mantri Greh Sadak Yojana
(B) Pradhan Mantri Gaon Sadak Yojana
(C) Pradhan Mantri Guarantee Sadak Yojana
(D) Pradhan Mantri Gram Sadak Yojana
PMGSY =1 Ui E1 I 2 7
(A) W9M W= T8 §SF T (B) W i i3 Hga drmn
(C) wuM =it T e T (D) WuM 5 Uy == Fr=
80. The centre for Agricultural Marketing is located at
o S e g Delhi(C) Nagpur (D) Hyderabad
< A !
(A) B) wfeesht () 7w (D) BamEre
81.  Which organism is conside ivi e o
(A) Bacteria  (B) Fu;eg? to be b(()g'])l":\ ;Zﬁ and Non(-g\)'még .
. 3 D =c ) Algac Jirus
mqﬁawasiiamﬁj?\ﬂmmg? :
,m\___‘*___%" T B) wgg (C) dare (D) amE
eNo.: C-7982022Seriescp . ——————— —




ount of absorbed “'at.cr oy |)|n‘ms 15 liberateq out by

Osmosis {C) Diffusion e s
rfereh AV TERE1E6 200 i oy ey 2, | SPiration
?‘A‘)‘ﬁ g (B) SO (C) Fermam

Excess MmOy
82. svaporation (B)
(A e e <

i [utant ?
is Carbon monoxide a Po
8 Y\l)‘yll{seacts with haemoglobin (B) Mflkc.ﬂ NErvous system inactive
zC) It reacts with oxygen 24 (D) Tinhibits glycolysis
?f) Srrerei o are Sfafhen HEE |
(B) R SuTeh) i AR UG | o
(C) 7@ SHaISH 3 T2 SRl A 2 | B
(D) % TEhIfTEIE %I Uehdl B |

84, Who is known as the Father of Green Revolution in India ?

(A) G. Paul (B) Norman Borlaug
(C) VanNeil (D) Dr. Mithcall
S T 1 i il F1 SH 2 7

(A) =i 9Td (B) S ERE™ (C) 9 i (D) = s

85. Dinosaures were
(A) Mammals that became extinct (B) Egg laying mammals

(C) Reptiles that became extinct (D) None of these
SR &

(A) g i faqm B § | (B) 31 ¢ & ot
C) wrESifara g (D) w7 & = 7@
86.  Which of the following is known as body builder ?
(A) Protein (B) Carbohydrates
g—% Vitamins (D) Fats
e foreet s 2
(A) 3 (B) wm@EERze (C) faafmm (D) 34
¥, The PH of human blood is
T 51 pH 2
(A) 7.0 (B) 7.2 (C) 7.4 (D) 7.8
. Ho : |
(A)w'.'!](;gny anss a(r[(; )lm;x:)dqm adult htzg.;m2?08 (D) None of these
T A fofarferat v el & 7 o T
<~ 207 (B) 204 (C) 208 (D) ¥ A BRI
S B - S T
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89.

90.

01.

92.

93.

Which human gland produces Insulin ?

(A) Spleen  (B) Liver (C) Pancreas (D) Pituitary
(A) e (B) TFd (c) smEm@E (D) Wggaiy

A test tube baby means

(A) A baby grown in a test tube

(B) Embryo fertilised in uterus and developed in test tube

(C) Embryo fertilised and developed in uterus

(D) Fertilization in vitro and then transplantation in the uterus

UF ng;ﬂ;aﬁqm e R 7

(A) Th q 394

(B) oI = o ﬁﬁﬁa%ﬁn}@w 3R 2w 2 1 ol g e |
(C) yw Ffaa sihfasfae mifvg FEm 2 |

(D) g o Frrgs 3t 6t mfer F wemoaw

Gobar gas contains mainly J

(A) Methane _"?B) Carbon dioxide

(C) Butane ) (D) Carbon monoxide

T i H gEd: B 8 |

(A) foem (B) I STEHTHEE

(C) = (D) ST&A AHITETES

The purest form of iron is

({\) Steel (B) Cast Iron (C) Pig Iron (D) Wrought Iror
e 1 IG F9 8

(A) 39 (B) ediiel  (C) F=@m| (D) freaism
What are soaps ? o

(A) Salts of silicates

(B) Esters of heavy fatty acids

(C) Sodium or potassium salts of heavier fatty acids
(D) Mixture of glycerol and alcohols

AFAFTNE 7

(A) Faferere & ar

(B) sl &fivis Fuey

(C) ﬂfﬂ@ﬁ@“ﬁ?ﬁ%ﬁfgw Fga WefiEn & @R
(D) fremtie 3 ve—wﬁaawﬁm

Code No.: C -79312,022131'!123-1\ & I8



94.

96.

97.

98.

9.

Laughing £95 1S & (B)

\]tn:'LL s

Nitric oxide ‘ o

(?; Nitrogen trioxide (D) Ntm_‘:-g;-, Penzayide
mfma ] (B) F5zm vime—

(A) redich RS S Fiemes

- D "v.. —
(C) :{@WWW (D) mt{'?—\s‘g

Water has maximum density at
qrfl 1 f ) _
(A) 0°C (B) 4°C (C) eC D) 100%
Decibel is the unit used for |
(A) Speed of light (B) Intensity of heas
! Intensity of s?:;;d PN (D) Radio wave frequency

‘%H* Y B @ 7 '
(A) m (B) = Fimm -
(C) ﬁﬁﬁm (D) ?T?JTF{"TB‘-:}-:_-;—‘: :f
The m:!rénigl tempc.m;l%;e of human body %n the Kelvin scale is
e T AT FCH G G9HH
(4) 280 (B) 290 (C) 300 D) 310
Who invented Radar ?
(A) Robert Watson Watt (B) Max Planck
%gaw P (D) Henry Becquerel

1 FIfaehn foman 7

(A) Tt e (B) A i (C) Us. 4 (D) ST

When ice melts into water, its

tg) volume increases (B) mass increases
< .)‘.-;.Volum% dccrc%scs (D) mass decreases
Eg; 'ml Vo e R | (B) Z=OaH 9aai 2 |

i FAEAR | (D) TNHFHEATE |
m"’;milk 15 Chumed the cream is separated from it due to
(C) ncllonal fOrcc (B) cohesive force

ﬁ Yiational force (D) centrifugal torce
%wm% il fepmas Hmm ﬁnmmm%

(B) #@swad (C) emas (D) SEwal &9
T Code Mooz (T8 2022SenenA.



101. Ali Khad is a tributary of which river of H. P2

(A) Satlyj (B) Beas - (C) Ravi (D) Chengy,

¥oh @ 2.0, i fra a8 i gemsAdi e 7 o

(A) Tderd (B) =™ (C) T ) =
102. Khaiiiar lake is situated in which district of H.P. ? .

(A)JJChamba (B) Mandi (C) Kullu (D) Kinnay,

e 3ite f.w. 3 forw e o R 2 7 g

(A) == (B) #el (C) Feel, (D) Teram

103. Sujanpur in H.P. is famous for which fair 7 .
(A) Dashehra  (B)_ Shivratri (C) Nagini (D) Holi

2. Elgangr%anéafmggﬁﬁ ? )
(A) ToEq (B) fiautx (C) ARFH (D) e

104. Bir-Billing is famous for

(A) Ice Skating (B) Hot Sprmgs (C) Paragliding. (D) Fish farmin
AR-ifei fehgen forn

(A) FEG =Hen (B) mi‘amif f(C) Fremsier (D) few wifdn

105. Rupa valley is located in which district of H.P. 2

(A) Smnour (B Shlmld (C) Kinn D) U
=adi ey s ifRes 7 e )iyt

(A) Tqmn (B) formen (C) Tersilt (D) 3
106. Deo Tibba is located in which district of H.P. ?

(A) Solan (B) Bilaspur ) Hami
Temrere wiem % form T 1 “2an feaa” F&m-‘g ;m'rpur (D) Kullu
(A) Hrer (B) @R (C) wig (D) Ty

107. IJijed festival is celebrated in which district of H. P.?
(A) Lahual-Spiti (B) Kangra (C) Kullu (D) Mandi
?

(A) TR 3 (B) sl
(C) &eeg (D) #g
108. First Women Governor of H.P. was

gé) Vidga Stokzsm : | (B) Leela Seth

) Rajkumari rit Kaur D) Sheela K
aﬁm 2ﬂ (D) eecla Kaul
(A) feren =g (B) <fiends
(€) Wﬁa‘ﬁ%’ﬂ . (D) Yenww

Code No. : C-798/2022/Series-A S _



has h,g_hest percentage of schedyle

P ed >dasle ol
Wh hd;smct of H(B) Smnour (C) Hamirpur l;)x}1\;;’(»13;,;1&.:.(_.,,]
10 ) KNS s 5 e 0 1 T R S s
%ﬂf“ff e mer (O T p) g
(A) "
. Ieo IV er Yaml{?a > 5 o
110. yedic nAM> B) Arjikiya (C) Askini (D) Kalindi
(A) [@vfgafaa;me ‘
b - RS R £ v s e
4 ®) FoEE (O (D) e
(A) T
; ly state was
(al of Trigarta prince ,
i ?fﬁpa;,pm ® Nagarkot  (C) Nagear (D) Halog
fgrréﬁ?m?ﬁ £ . R . :
(A) T (B) ATTHIC (C) P (D) FTFw
112, The last ruler of Kutlehar princely state was s
(A) Brij Mohan Pal (B) Narinder Chand - =4
(C) klshanChand ‘ (1)) Surinder Sinzh
FEoel 1TEn & 31 mraaw
(A) Wexarﬁhg N (C) IR EE (D) F R
113, The old name of Nalagarh was
(A) Kehlur (B) Hindoor (C) Baned (D) Kirgram
WG 1 T 415 41
(4) 5;‘;‘53 (B) f'@*ﬂ?i () e (D) ERvIE
- |9+ A -, =
4, ,
RE lemdﬂ'of Bhagal princely state was | }
) AjayDey  (B) Abhoj Deo (C) Gobind Pal (D) Durga Sinch
e P & s
WEEE @) wimm () kw0 71
h Y
Z{‘;’h}éur fOl‘t Was fouﬂdCd b\ | o
: (B) Umed Singh (C) Hari Chand (D) Suraj Sen
(A} m‘-a"qa e 7 o _ -
Iy, (B) zuefgz (C) FEf=z (D) HI3A
Which '
A Tlskgmsn as “Ajanta of the Flimalavas™ 7 -
ngOE Ona.sten (B) Masrur IOLI\ cut tenipic
o :érnGa]]c.n (D) Sobha Singh Art Galler
W23 TR s T g w0 AR ¢
'Pl?%?zla (B) WTFEF?*“‘
V3 Aer (D) =i fim TR AT, o oo
SHEESEEA

- pl | - ( ode No.: (



117. Which Delhi Sultan 100k over

AD.?
(A) Alauddin Khilji
(C) Ibrahim Lodhi
im nmesafmwzmmvﬁmahm
(A) F3en fa=rA B) feiamm 7=
(C) wardm & (D) ¥4

118. The first European to visit Kully was )
(A) Lord Amrherst (B) Queen Victoria
(C) William Moorcraft (D) Lord Minto
=1 H T S yom g W )
(A) =idvedd (B) 7 fa=afan
(C) fafemm g (D) =it A

119. Chmh&w&wvasﬁfrhxh
(A) 1912AD (B) " 1

wmmﬁnmum'ﬁ—a,
(A) 38.1912 (B) i8. 1918 (C) £m. 1924 (D) 3. 193

(D) 1936 AD |

120. W‘nm&ll&WAIﬁﬁl’m&ﬁm

(A) Mazaheshi Dewi (B) Shanta Devi
(C) Viay Kumar (D) Samjay Kumar
w2 e = weaw fas o 2

(A) ==z B) == () ﬁw?m (D) == &7

121. Chaudhary Sarwan Komar Krish: ‘Mf‘ﬂmmﬁw‘
in which year ?

hmnﬁmwﬁtmmw&w

(A) 1970 (B) 1978 (C) 198s (D) ¥
122. Who became the first Lokaywkss of H.P. 7

(A) Hira Singh Thakur (B) T.VR Tatachar

(C) S.Chakravart (D) N.C. Mehta

3 3mm=ﬂaﬂ§a

(A) B ERaEs - (B) A9 3w mvvard

(C) v=. =41 | (D) |, %=

— — — —— e
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123, Gorkha training centre is located al which place of H.P. 7

A) Dharamshala (B) Nahan (C) Sundemagar (D) Sabathu
3. & fon wam @ g ufmen %2 a3 7
(A) wdoTEn (B) A (C) AW (D) #aYy
124. The writer of the *Kamaniya Kinnaur” is
(A) Rahul Sankrityana (B) RK.Kaushal
(C) Mian Govardhan Singh (D) Dy Y.S. Parmar
“wndv fath & e )
(A) TR SR (B) & &y
(C) Toa mendafag (D) 2. 9w un, w&y
125. The Pandoh dam is constructed on which river 7
(A) Yamuna (B) Satly (C) Beas (D) Ravi
qziz wty faem 38 w ffda fEm o 2 7
(A) 0 (B) #a~7 (C; &y (D) ol

imla 77
- Kitchner (D) Minto

126, Who had built the *Wild Flower |
) Curzon (B) Mayo

F| "R T ¥ e 7
M) i (B) =@ (C) fe=s (D) =1
27. The local God of ‘Peo’ area of H.P. is
(A) Shiva (B) Dabla (C) Baspa (D) Kamru
B3 F T4 (Peo) ¥3 F vafas Zaar8
{A) = (B) za=n (C) &= (D) =%

mumnmuhml ‘Sanawar’ is located near
(B) Palampur
g Jopw (D) Kasauli
e ‘a7 Ak
(B) TR (C) Iffgm (D) =

Bous Doongri temple is located at which place in H.P. ?
L g °' (B) Bharmour (C) Kandaghat (D) Manali
SRS fon vy o gfaggn dfer Ak 7

(B) wofy (C) #zmaw (D) S

e A —————.

23 Code No. : C-798/2022/Seriey




130. Uhal-111 hydel power project launched by

(A) J.P. Industries (B) Ballapur Industries
(C) Oswal Industries (D) None of these
FEei- 111 St g feres g v s 4 7
(A) F.H. == (B) @R S1
(C) AT FeEI (D) H 4 T i Tl
131. Australia has recently designated which species as Endangered ?
(A)_Panda (B) Kangaroo (C) Sloth (D) Koala
ST 3 7 d 1 o st eewm At R 2 7
(A) TEt (B) & (C) =i (D) AT

132. {‘\“ an.cient Roman settlement has been recently found by the archaeologists
in which country ?

(A) Greece (B) UK. _ (C) US.A. (D) Russia
ferm 291 3§ QawaIe 3 7 81 1 W QA 950 5 g8l @ 7
(A) H| (B) 3I. (C) 3.WEY (D) ==

i

133. Which country’s central bank has recently launched ‘Five year plan for
financial standardisation’ ?

(A) US.A. (B) India _ (C) China _ (D), Japan _

g T Hl 5 A% 3 od a i ArcRen & fou TEEEE aean .
STy TR 2 7

(A) 4.TH.T. (B) WG (C) == (D) SUH

134. India recently held a ‘High level conference on Renewable Energy’

alongwith which bloc ?
(A) SAARC  (B) ASEAN  (C) BRICS (D) G-20
foe e T1Y WA - BTet €1 8 T sl TS Tlid Fer A foha 7

(A) 4 (B) snfgmm  (C) foem (D) G-20

135. Which country leads the ‘Giant Magellan Telescope’ project ?
(A) US.A. (B) Russia (C) China (D) Australia
“ST BiTer ferepia” gitEisT o1 oo e qm A fRm 2 2
(A) Z.UA.T, (B) &4 (C) =M (D) arsferan

136. Which Indian state has recently launched Mission Bhagiratha to make
sustainable drinking water sources ?

(A) Bihar (B) Telangana (C) Jharkhand (D) West Bengal

mﬁ?‘mﬁuﬂ'@ﬁmﬁﬁmwaﬁﬂﬂﬁ%%ﬁﬁmmmw

M(A) ) (B) e (C) FREs (D) ufPm s
Code No. : C-798/2022/Series-A Y —2922HIB,2L 1S5



137

138.

139.

140.

141.

142,

.cAR T-cell therapy” which was in news recently, is used 1o 1oy whict
i |

disease ?

(A) Tuberculosis (B) Diphtheria

(C) Sickle cell AHPCI'Hiil (D) Cancer

s Al A" H 21 A 8 w@eni 1 ofl, 77 a7 F zems % fau 2 7

(A) & (B) fedifrn

(C) Taeher & welifrn (D) Fm

Which North-Eastern state recently inaugurated a dedicated ‘Technology

Park’ for I'T sector ?

(A) Assam (B) Mcglmlaya ) (C) Manipur _ (D) ’Mizmam

%m—tﬁfamﬁm@ﬁﬁnmzﬁmm “telifrl 9 &1 2249124
7

(A) 3mHH (B) WaTeid (C) mfirg (D) fa=mm

Which state recently launched *Project Sadbhawana’ to improve Governance ?
(A) New Delhi (B) M.P. (C) Assam (D) Odisha

Torm 179 3 71t €1 9 9EA 1 a9 o Egmeen aiEE 6 gaee 2
(A) Tfesst (B) 1. (C) 49 (D) Hifzam

What is the objectives of the ‘Parvat Mala' scheme announced recently ?
(A) Promotion of Adventure Sports (B) Transportation in Hills
(C) Promotion of Pilgrimage Sites (D) Protection of Wildlife

&1 21 4 9ifgd <61 78 ‘TdaqTen 11 F I FE 7

(A) TTEfas Eel #i FerE (B) 9=TEl %5 | uftgss
(C) e =1 agran (D) ==l i FerEn %
Rohan Bopanna is associated with which sport ?

(A) Table Tennis (B) Tennis (C) Badminton (D) Hockey
e A fr @ A A 2 7
(A) eamefm  (B) Zfm (C) #efmm (D) =

Which country’s head topped the global rating survey as the most popular
leader in January 2022 9
(A) China (B) US.A.  (C) Russia (D) Indiz

N S 1 e 2022 B HEE FHIT 41 % =9 G afgas 1120 @440
qafav.nqq{rg ?
(A) =g (B) Z.uH.1u, (C) =1 (D) ¥w



143. Which country has recently declared 2 90 day “environmental emergency”
after a massive crude oil spill ? _
(A) Argentina _ (B) Canada_ 1 (C) Australia (]2) Peru
o 5913 7 &1 1 92 Gu g1 sy de o 1 % 916 90 fe7 vt
AT S fehar ?
(A) FAFET  (B). HA=E (C) IR (D) =

144. Paschim Lehar, is a joint Defence Exercise recently held by which country ?

(A) Nepal (B) Bangladesh (C) Myanmar (D) India
ufem @ BT € 1 fon 2 gra srifo U S 14 ST R 7
(A) T (B) amemgw  (C) MR (D) 9

145. Which country is the host of 2022 Winter Olympics ?
(A) Japan (B) Australia  (C) Canada (D) China
A H1 571 2022 % Hiehreli A & o0 55am 2 7
(A) STIH (B) wgfam  (€) =i (D) ==

146. Tlliteracy : Education :: Food: 3 ER T - =T i

)il (B) Dridg¢ - (C) Dam (D) River
ﬁf{m R0 TR e -
(A) =T (B) 9« (C) =iy (D) T8

147. In the English alphabet *BDG" is to ‘CFJ" in the same way as‘BGJ'»;is 0.
31 FuiE 1§ 5" “BDG F1 “CFJ” %al 911 & 351 Y BGJE%«W@@

(A) FIL (B) FIM (C) FIM (D) an-
148. Missing terms in the letter seriesab b _bbaa are

e f@eab_ b bbaa WA YER |

(A) abaab (B) abbab (C) baaab (D) babba

149. Which letter is 14" to the lefi of 7" letter from the right in English alphabet ’
£ c S 4 1 Iphabet
AU FuiEA § HE A e i ﬁnaﬁm%a%hé 143‘1’% ?

(A) F (B) U (C) E (D) V

150. How many pairs of letters are th

ere in the word ‘COMPENSATION’ whic!
have the same number of letters

(A) Four (B) Five (C) Six (D) Seven

W= “COMPENSATION™ # 3 3 s T 37 i
Rt 35340 i £ 3 5 A& % Tove 7 2 Foms 37 w30 & 3w
(A) IR (B) diy (C) B (D) =™

- Cade N, ; C-7982022/Series-A - 2




ingful English words can be formed with the |

\ e lcrs A-“N
ean | N
15l HoW ’“‘mﬁ gncr only once In each'word ? ’ A.
" sing eac (B) Two (C) Three (D) F our
() O e e, 1 e T T ST 5 AT e 4 o e
e THa o ? ‘
< 1R EAI
(f‘ zf (B) @ (C) o (D) =m

If the letters of the word ‘HANDOVER’ are arranged a.ly.)habetically from
& leit to right, how many letters will remain at the same position ?

(A) None (B) One _ _ QC) "l;wo . (D) Tl%f_; N

afz 12 “HANDOVER" % 312l <1 T & &1 qurigphs 8 SAafea fefam s 2,

7 o e T T W ? .

(A) FETE  (B) (C) @ (D)

153. In a certain code language ‘GEOPHYSICS’ is written as ‘IOPDHZRIBT".
How is "ALTIMETERS’ written in that code ?
s fafTad F2 w8 “GEOPHYSICS™ 1 “IOPDHZRIBT” for@t siman & 138
e 8 “ALTIMETERS” %8 fo@r Jmia 7 sem
(A) NHULBFSDQT (B) NIUKBFSDQT =rg
(C) NHUKCFSDQT L (D) FHESBE T

154. 1f South-East becomes North, North-East becomes West and so on, what
will West become ?

(A) North-East (B) North-West. (C) South-East (D) South-West

;famgfm-zamam%,w-@qmém% 3R 3t otg =1, ufdm ==

(A) SW-g  (B) W1 (C) ehw-id (D) ehror_gBm
IS5. In a row of 24 boys, when Ajay

became 8" from the lefi end. Wh was shifted by-4 places towards left, he

at was his earli iti i
bec oﬁ}'w i I€r position from the right
(A) 12" (B) 13" (C) 14" (D) 15%
zgngvﬁwqﬁﬁﬂ%aamﬁ4warﬁafn ST 8, T 98 51
PN H 89 T 9T 377 A 2 m%%ammﬁmqﬁﬁfﬁlﬁﬁeﬂ? i
(A) 124 (B) 13 (C) 147 (D) 154
156, i room i i i '
oom is called bed, bed is called window, window i
Ower 1s called cooler, on what would‘a'man sleep ? i g and

(A) Window (B) Bed (C) F

Wmﬁmmm e ) Flower (D) Cooler

‘ i , 19 ] TSt a1 iy, Rageh '
ﬁ‘%mmmm,mmmmmn?m ' a%ﬁaaram

gy C) %= M=



IS, ¥ A" wcilind T, W i ailint W"”‘Vnaﬂlli';m

L Men vt il de e
WA T, w W, ﬂ'f-w oY
W A T TE GO P B e W
A % - 07 iy = Dy
BN A e dn St sestemtny vas Tumsdey, when will Sundaey be 7
“‘ "" By Two days stter day

1.3 afer omersees
Whimw m-z?

Ay 368 = wrRE 2w
"y = T EEEZ

199, Ponnimg w0 2 plomgrios o woman mys. “This man’s son s wster ®

moriier ™ Haw o owam et m e phetegraph ~
8 Dmugine ouent
nﬂiwmmwpi a4, o R B R A R
" vy & o X S SE L

) o - wh (o =

AL Mah 5 IV wae an Friday, what day of e wezk w:l! te an Mareh
20
(A) Sumby 3 Teesdey  00) Thumdey (D) Seturday
s-(miﬂm;mm‘hm :
(8 T = SwmE () AW (1w

“‘ﬂ-wwhm-ld‘iu
oo s (84 BBy (€ and (1)

nm“ﬂmmmw‘
M2 (A Cumseline (B Cannafican: rﬂ“nw

A Pt By (Cy Prevamt (D)) Prevaim

W Goney By €y Coeny (D9 Gu-ty
T 3

=D N S e e Y




pircctions (Q. 166 to 170) : Choose vlhc most appropriate option out of the
four alternatives (A), (B), (C) and (D) which is opposite in meaning to the
given word :

166, Roughly
(A) Exactly (B) Completely (C) Pointedly (D) Largely

I}

(A) Sinful (B) Guilty (C) Deadly (D) Corruption

a

F

!} 167. Innocent
4 168. Choice

| (A) Refusal (B) Dilemma  (C) Harm (D) Approval
- 169. Friend
(A) Rival (B) Acquaintance (C) Foe (D) Competitor
170. Vital
(A) Peripheral (B) Dead (C) Unimportant (D) Outer

Directions (Q. 171 to 175) : Choose the most appropriate option out of the
four given alternatives (A), (B), (C) and (D) to fill in the blank :
=
O

171. His supporters began to and he was left alone.

(A) fall off (B) fallup (C) fall out (D) fall away
172. The boss is unnecessarily insisting this point.

(A) for (B) at (C) in (D) on

173. Apparently he was feeling about his bad luck.
(A) anger (B) angry (C) angrily (D) angerily

174. If only he told us the truth in the first place, things wouldn't have

gone wrong.
(A) has (B) would have (C) had (D) should have

175, Your pay is for your work.
(A) high enough (B) enough high (C) too highly (D) much high

e e+ e ——— e e e et . . A WO . S
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l?lrccl§¢)ns (Q. 176 to 180) : Choose the most appropriate option out of the
four given alternatives (A), (13), (C) and (D)which clearly indicates the
meaning of given expressions

176. To take one to task

(A) Disgrace (B) Handle (C) Entreat (ID) Rebuke

177. Through which light cannot pass
(A) Dull (B) Dark (C) Obscure (D) Opaque

178. List headings of the business to be transacted at a meeting
(A) Schedule  (B) Agenda (C) Proceedings (D) Excerpts

179. One who cuts precious stones iy
(A) Philatelist (B) Drover (C) Oculist (D) Lapidist

180. A man who pays too much attention to his clothes and personal appearance
(A) Snob (B) Duffer (C) Licentious (D) Dandy

£ (7. 9. 181 ¥ 185) : I[& &g T
181. (A) Towad (B) T&d (C) e (D) “owd

182. (A) Frsn (B) Br (€) fh (D) gk
183. (A) FHW (B) g8 (C) g8 (D) FEH
184. (A) z@AR  (B) IFgER (C) AEFER (D) AETENE

185. (A) HHagd (B) HH=ga (C) wHH= (D) wH=Eam

s (W. 9. 186 ¥ 190) ; Fafaar= e 9H0
186. fawn
(A) =4 (B) whfirn (C) Fromsi= (D) =<

187. g%

(A) 7H (B) @ (C) M (D) =af
188, @

(A) hifea (B) @u (C) et (D) T
189, iy

(A) 39 (13) & (©) T (D) fee
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(A) T@ (B) =<
)
jor, ‘e’ 3 T
(A) &% (B) =gsifa

(92, ‘W W iy e 2
(A) W+39  (B) W +3w

193, T ve2 B

(A) =& (B) 3FW
194, ‘gl = wifeim 2

(A) aEER (B) «Eife

195. ‘T’ < SgEeq
(A) T (B) #md

196. -7 <\ YrEaT=F Gl 2

(A) T (B) =rdi
197. ‘#9’ & ferdrgor 2

(A) =0 (B) wHEN
198. ‘7Y 4 yoqg 2

(A) | (B) ™

199, “Immdt’ o1 foareim wrea 2
(A) T (B) HeHIe

200. ‘e & sy argry syt o ek
(A) =%a e 2
B) s wifsra aFn
©) Ww @ a7
D) 3o iR

(C) frfrs

(C)

(C)

(C)

(C)

(€)

(C)

(C)

(&)

(C)

aeged

M+ 37

HIAT3A

q

(D) %=
(D) Herdram
(D) ™1+ 29

(D) &= i
E.Lri

(D) =1

(D) "Emw

(D) m

(D) ==

(D) #

(D) "=



